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Example Problem: 2x>—x-1=0
Student: | don’t know what I’'m doing or how to solve this.
TA: Tell me what you do know.

Scenario 1: Factual Realm (basic elements students must know)
Student’s response:
e | can see that there are letters and numbers in a sequence — but that’s it.
TA Response
e So, let’s go to p. 7 where the text discusses variables.

Scenario 2: Conceptual Realm (interrelationships among basic elements)
Student response:
e Well I've solved it but | keep coming up with two different answers and don’t
understand why that’s possible or what that means.

TA Response:
e Nice job —these kinds of problems do have two solutions. So let’s talk about why that is
the case.

e Why do you think you might keep coming up with two different possible solutions?

Scenario 3: Procedural Realm (how to do something, methods of inquiry and criteria for using
skills, algorithms, techniques, and methods)
Student’s response:
e | think I'm supposed to use the quadratic formula to solve this but | don’t know how.
TA Response:
e The quadratic formula is definitely one option, what is that formula? Let’s work
together to figure this out.

Scenario 4: Metacognitive (self-awareness and knowledge of cognition)

Student’s response:

e Ok -—really | feel like | can solve this problem, but it takes me a long time to do and | am
unsure whether | could take these principles and solve a more difficult problem.

TA Response:

e That seems like a great place to be at this point. Why don’t | give you a more challenging
problem and we can work through it together.

e One option to really make sure you understand is to work from the other direction and
actually create a problem. Would you like to work together on doing that?

Scenary 5: Sociodynamic Realm

Student’s response:

e | am feeling so overwhelmed | don’t even know where to begin.

TA Response:

e |understand. Are you overwhelmed about just this problem, just this class, or
something else?

**This is a great place to identify other support resources on campus, including the

professor, Q Center and Class Dean




Biology:

An mRNA has the sequence 5-AUGAAAUCCUAG-3'. What is the template DNA
strand for this sequence? What sequence of amino acids does this mMRNA
encode?

Computer Science:
Write a method that determines whether a String is a palindrome.

Economics:

Consider the following events: Scientists reveal that consumption of oranges
decreases the risk of diabetes, and at the same time, farmers use a new fertilizer
that makes orange trees more productive. lllustrate and explain what effect these
changes have on the equilibrium price and quantity of oranges.

Physics:

A canoe has a velocity of 0.4 m/sec southeast relative to the earth. The canoe is
on a river flowing 0.5 m/sec east relative to the earth. Find the velocity of the
canoe relative to the river.

Chemistry:
The allene molecule has the following Lewis structure:
H H
C—=(C=—C
H H

Must all four hydrogen atoms lie in the same place? If not, what is the spatial
relationship among them? Why?

Math:
Show that the curve y=6x3+5x-3 has no tangent line with slope 4.



Use your disciplinary specific problem to focus your conversation

Student: | don’t know what I’'m doing or how to solve this.
TA: Tell me what you do know.

Scenario 1: Factual Realm (basic elements students must know)
Student’s response:
[ ]

TA Response
[ J

Scenario 2: Conceptual Realm (interrelationships among basic elements)
Student response:
[ ]

TA Response:
[ J

Scenario 3: Procedural Realm (how to do something, methods of inquiry and criteria for using
skills, algorithms, techniques, and methods)

Student’s response:

[ ]

TA Response:
[ ]

Scenario 4: Metacognitive (self-awareness and knowledge of cognition)
Student’s response:
[ ]

TA Response:

Scenary 5: Sociodynamic Realm

Student’s response:
[ J

TA Response:
[ ]
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